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2 1,936,537
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0.2EEPDIRIY SN2+
250,000 #87H A 2,000
0.LEST sx22 35000024 *122 4,200
o2g+y 73,000
0.2% 50,0002 301+ 1174 17,550
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O HAIY HRF&H| 2,000,000& 2,000
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0. 822 St 222 25,0008 *1509! 3,750
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AASTIE A5 T
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HESX MA(XZLXR)
300& *3,0000H 25 1,800
AUWHES HE 50& *30, 00004 1,500
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0.2cXEd & XNIE28 =472
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AN A 238,900
oBrE T} A AEDY
1,500,000 * 6IH2 *12& 108,000
Ubte N} A oERY
4,500,000 «2I0 2+ 123 108,000
XS 2 NP 400,000 * 43 1,600
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=3dE =RYE=3 2ASHIXA
1,100& * 50021+63] 3,300
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0.4SEHN 7Y 250,0002 5Lk 1,250
0.ALE X XHESBE RIZ
200,000 *1CH 200
AVAFY 0ISATALL 8,415 3,600 4,815
201 er2g| 2,275 1,600 675
01 At 22l 1,400 850 550
OYgtsgH| 1,400
0. AFIZH2Y 2B S| 40024 +3,5000! 1,400
02 Tzl 875 750 125
OZzZR2 % HA 875
0.2AAAF +2AT ZWBER
2502 *3,5002 875
01 YprBAZ 6. 140 2,000 4,140
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SAN-ZH-SA(FA) - NFAY - BES Off &F K Ol AF o8 Hws2
EEEEEEEE 10021 +5,00004* 15 500
307 eI2t0IH 1,540 10,725 815
TEEREET 6,000 6,000 0
OS4Z&X x26l(W0lIX)
2,000,000 #29! 4,000
OZET YAX 2 20,0002 5021 %25 2,000
05 2I2reIEr3 5,540 4,725 815
OstHl R 2|2 E 5,540,00024 5,540
AN 8,824 0 8,824
o] 4,412
= 1,500
2 2,912
201 Lur2y| 8,824 0 8,824
| 4,412
= 1,500
2 2,912
01 AfRa2lt] 8,824 0 8,824
O+ 8| 6,000
0.FRBgEe BEE 6,000,000 6,000
ol 3,000
= 1,500
2 1,500
oS n=Y| 2,824
0.0H8 B BHXI S ALS ZAZ Al FNTP DS
2,824,0002! 2,824
p] 1,412
2 1,412
SRR AL 224,464 145,390 79,074
= 18,928
| 50,495
= 35,908
2 119,133
MTRHA B AN EZ X2 7,000 6,000 1,000
= 3,500
2 3,500




SN A28
R R T e R NP EECEVEET )
el RIEAAY (el @)
SN I SRI(S) - NRAY - B sk Soe B RS2
301 YEtEa= 7,000 6,000 1,000
& 3,500
= 3,500
01 A2 E =03 7,000 6,000 1,000
OATAHHA S L& 242 (352 ) 7,000,000& 7,000
= 3,500
i 3,500
S SGUHAOl &S AT BH0F2t el 5,232 5,910 AB78
| 2,616
= 1,308
= 1,308
307 QI2t0IA 5,232 5,910 AB78
| 2,616
& 1,308
= 1,308
01 S22l 5,232 5,910 AB78
O & 41 TH AFOI AF 24 AF(24091 ) 5,232,000 5,232
| 2,616
= 1,308
i 1,308
Ol=0r & d™S0IA0F 2 ZHI X 16,650 5,764 10,886
| 8,325
= 4,162
= 4,163
307 QI2t0IH 16,650 5,764 10,886
J| 8,325
= 4,162
= 4,163
01 2+ =l 16,650 5,764 10,886
OD0I=s0otY A& A0l &0t 2 HIXI& (1321)
16,650,000& 16,650
I 8,325
< 4,162
i 4,163
MMTZ2H2Y 4,418 1,714 2,704
= 2,209




SN 2R
M AHUULAUSAEHOSAHBIAMMRAES(BEAHA/BAHZ)
el RIEAAY (el @)
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
AT Z S A T 1,105
iy 1,104
201 B9y 418 434 AN 16
= 209
= 105
o 104
01 ArS2t2|b| 418 434 N 16
Ogdt=EH| 418
0.EZESNEASHH 2,000 2092 418
= 209
o= 105
= 104
307 QIZtOIA 4,000 1,280 2,720
= 2,000
& 1,000
o 1,000
01 =L =H| 4,000 1,280 2,720
OEZDX2 2 &2 H (1002) 4,000,00084 4,000
= 2,000
= 1,000
= 1,000
MPLUAMOIER20| K& 6,840 8,505 A 1,665
= 5,472
= 684
o 684
307 QIZtolA 6,840 8,505 A 1,665
= 5,472
= 684
iy 684
05 oIt 6,840 4,536 2,304
O DU AMOLE 0K (1221)
6,840,000& 6,840
= 5,472
= 684
= 684
A2 AL 19,608 14,640 4,968
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S 2o 2
mR: M LARE IR A SAHIAYM RS (22 /2212 F)
el DX ALY (19 &
SN -ZH A (ZH) - MFAY - BES Aol a4 Hlw &2
- o= T ° . [= Bl e =5 0:”/‘l|_% Lsa
== 240
i 960
SXAEAANE 2 82,700 92,050 A9,350
201 Let3| 3,400 4,750 21,350
01 AtR2teltl 3,400 4,750 A 1,350
Oget2gl 2,000
0. LARo A SAUEHAME EE
SN ES, 200 =10,0000H 2,000
Or=1=4:] 1,400
0.2XNEHIRFH 7,000& 421 x50 1,400
202 OHl 2,400 2,400 0
01 =Wobl 2,400 2,400 0
O&LHAbI 200,000& * 128 2,400
301 YEtEA= 58,400 58,400 0
01 A22HEE=063 56,900 56,900 0
Osd=ol=a 56,900, 000& 56,900
12 JIEIEAZ 1,500 1,500 0
OLolE8AHNSELAE A 10,000& * 15021 13 1,500
307 2IZ2t0lA 18,500 26,500 A8,000
01 Az =4l 18,500 26,500 A8,000
Ogats dx0F A
40,000& *400¢2! 16,000
ONEY gustht IR+ & 2,500,000& 2,500
HUASHAANY 75,900 0 75,900
J| 37,950
= 18,975
= 18,975
101 Q24| 19,500 0 19,500
J| 9,750
& 4,875
i 4,875
10 JIZtHZ2Z2NSES 19,500 0 19,500
OIAESHAAY BX0I 19,500, 000& 19,500
| 9,750
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SN A28
A HHAULSLALSIEHAZHNHIATM A (E2H/B422)
el PUSAANY L HESAY (sl &
S BB SR (B) - NEAY - BAS 0f & o Soe DB
01 =P =4 14,000 15,500 A 1,500
O7Zde2d4d 299 8,000,000& 8,000
OO0IF & otS 2 E 4 At 500,000 500
OUEEBAME 45 & ML
5,000,000& 5,000
OFSXHMO M=+ 500,000& 500
XIOtE M <21 5,156 5,840 A684
p) 2,578
= 1,289
o 1,289
307 gIz2tol & 5,156 2,840 2,316
Jl 2,578
= 1,289
= 1,289
01 A== 5,156 2,840 2,316
OXIOLE 01 (31621) 5, 156,00024 5,156
Il 2,578
S 1,289
[ia 1,289
RIS XIEE A Y 97,510 45,100 52,410
) 48,755
S 24,378
= 24,377
202 O 1,200 1,200 0
p) 600
= 300
o 300
01 =LHAHI 1,200 1,200 0
OR2LQoXEE AYET 1,200,0008 1,200
Il 600
S 300
o 300
307 QI2told 96,310 43,900 52,410
7 48,155
S 24,078
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SN 2A2
HH: MU YUNLEHRSA ML AHH RS (22/ 2219 R)
el PUBANY L AESAY (5 &2
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
307 QI2t0IF 2 24,077
NEECEET 9,310 43,900 52,410
O 919l X (&2 2| X|259¢) 18,750, 0002 18,750
p] 9,375
= 4,688
2 4,687
OERIEBCEEPED 76, 160, 00021 76,160
p] 38,080
= 19,040
2 19,040
OLoloxIAE 22| 1,400,0002! 1,400
p] 700
= 350
2 350
PYRAMEF 40,160 0 40,160
| 20,080
2 20,080
401 A&HILLHH 40,160 0 40,160
| 20,080
2 20,080
01 Al 40,160 0 40, 160
OSIMTALEAM S (19H4A) 40,160,000 40,160
p] 20,080
2 20,080
e E R 41,684 28,630 13,054
=2 1,440
| 19,402
= 9,700
2 11,142
2 YFS o2yl 38,804 25,496 13,308
| 19,402
= 9,700
2 9,702
307 QI2H0IF 38,804 25,496 13,308
| 19,402
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2N 22
B DHHYUASSARAASHYAHM RS (22/2202
el MHUOIg AL (St5: & 2)
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
307 eI2tolH = 9,700
2 9,702
NEEEEEETI 38,804 25,496 13,308
OEPIVEE E-LI=] 24,599, 000! 24,599
ol 2,300
= 6,150
2 6,149
ORIHILEE YolAF S| 14,205,0002! 14,205
| 7,102
= 3,550
2 3,553
HYYH2IDS 2,880 1,200 1,680
2 1,440
2 1,440
202 oft 2,880 1,200 1,680
2 1,440
2 1,440
01 =Uolb 2,880 1,200 1,680
ONYYHSIINS 2,880,000%! 2,880
2 1,440
= 1,440
Feoazaxae 36,934 43,584 26,650
| 18,467
2 18,467
NENEEEEIN 36,934 0 36,934
| 18,467
2 18,467
307 2120l 36,934 0 36,934
o] 18,467
2 18,467
05 OIIES 36,934 0 36,934
OXIAEl AL EAALLS 36,934,0002 36,934
ol 18,467
2 18,467
SOEZMEIA A ALY 5,435,245 1,186,170 4,249,075
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SN A28
B N UUALEALA A AR (22/ 20 R)
el sSHESASMEIA N ALY (&9 dd)
S BB SR (B) - NEAY - BAS 0f & o Soe DB
sHEAS HHIA HE ALY = 3,532,164
= 1,772,081
= 131,000
B A BELLX 20,000 20,000 0
= 6,000
= 14,000
401 AIEHIZ =0 20,000 20,000 0
S 6,000
= 14,000
01 Al&HI 20,000 20,000 0
OuetEAd s A FELAI] 20,000,000 20,000
= 6,000
o 14,000
SAHAZS AL SEIMLAY 117,000 304,000 187,000
401 AlZHI X R OHYI 117,000 294,000 A177,000
01 Al&HI 117,000 294,000 A177,000
OSHEATSA LXMLHI(1,322m)
100,000,000& 100,000
O2Azd dZE=3A 15,000, 000& 15,000
O2A=2 SME EFSA 2,000,000& 2,000
AOHE AT Z A Ol A= 237,460 0 237,460
= 158,307
= 79,153
401 AEHIEL=20YI 237,460 0 237,460
= 158,307
S 79,153
01 Al&HI 235,750 0 235,750
OMOHE AT S A0 & A 235,750,0002 235,750
= 156,597
S 79,153
03 AIZ=0HbI 1,710 0 1,710
OUOHEATB A0 HAZE SOHH|
237,460,000& = 0.72/100 1,710
= 1,710
FUHEAEIZ A OlHA = 237,460 0 237,460
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2N 22

M AHUULAUSAEHOSAHBIAMMRAES(BEAHA/BAHZ)

ol =0IEQ2AEIA HAAY CRRE]
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
SUHEAHTES A OlMA= = 158,307

= 79,153
401 Al&HL=HY 237,460 0 237,460
2 158,307
= 79,153
01 Al&H] 235,750 0 235,750
ORUHEAHIZA0|HAF 235,750,000& 235,750
= 156,597
o= 79,153
03 A& S0HbI 1,710 0 1,710
O2UHEAHRNZ A0 AIFZAIY 20HHI
237,460,000& * 0.72/100 1,710
= 1,710
SHEE2HO S AHIA A AIS 4,823,325 0 4,823,325
= 3,215,550
= 1,607,775
401 Al&EHILE04H] 4,810,825 0 4,810,825
=2 3,207,217
= 1,603,608
01 Al&H] 4,722,305 0 4,722,305
OEAHAZJAAMFAIS 4,722,305,000& 4,722,305
= 3,118,697
T 1,603,608
02 Ze2lbl 71,201 0 71,201
OBAAZ NS A 2Zel
4,810,825,000& = 1.48/100 71,201
= 71,201
03 Al&R0iY| 17,319 0 17,319
OBAZAAME=ASE 20|
4,810,825,000& = 0.36/100 17,319
= 17,319
405 XHaHFESHI 12,500 0 12,500
= 8,333
= 4,167
01 ANAMNLEEFSHI 12,500 0 12,500
OYSBANZ AL (104) 12,500,0002! 12,500
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2N 2AASH
HH: NHYYUAYEANRAAS N A DS (2A/2227)
Chel: BHEKI B2 ALS! (5l &2
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES Off &F oA il b o bRz
SEEELBEETET 4,905, 0002 4,905
| 3,270
2 1,635
YEHYSBAANL B 501,671 600,300 £.98,629
= 2,896
o 219,790
= 2,500
= 72,297
2 204, 183
YweFAAY R 36,000 43,700 AT7,700
201 Lsr2 | 7,580 13,000 75,420
01 AR el 7,580 3,000 5,420
O+ 8| 6,180
0.LEYLYLSBANY E2SHE
500% 225 *2, 00001 2,000
0.2SHAANAR IETA AHSHE
8021 +2,5000H 15 200
0.20YRRIANY ERSHE
30021 %2, 50004 25 1,500
0.2+0I XIBHZAFKI HI = 4002 *2, 00001 800
0.XIOHOIY S2SH 40021300004 1,200
0.25F w0z JHSHH
30,0002 +8 x23| 480
SEET 1,400
024222 7,000 #421 +502 1,400
202 oft 4,400 2,400 2,000
01 =UHoIH 4,400 2,400 2,000
OYREAAY ARl NE
200,0002 *122 2,400
OYLBANY RFZ 200,0002 103! 2,000
01 YpzaZ 12,480 9,600 2,880
12 JEeas 12,480 9,600 2,880
OgeEAY KRN
10,0002 801 +122 9,600
OYeHsIaE SIHE X2
30,0002 *821 %122 2,880
307 2120l 11,540 17,100 75,560
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2N 22
O N UAL SR AN SN A M P (BA/2HOIE)
o9 YEHUSEAANABL G 2| & 2
o SIEN
& 1(BI) - HIRALY - BES Ao il b o bRz
EEFIEET 11,540 17,100 5,560
OYSLAAAS IHTY 80,0002 +240H & 1,920
OYSEAANAES WA 2
80, 00021 %2404 £ 1,920
OYSLANAS JYHT
20,0002 *150¢! 3,000
e HOAE U MR
d 27,0002 1000 2,700
Ol of g2olzHxe
100,000 * 20% 2,000
2 6,270 7,920 A1,650
= 3,135
2 3,135
21240 6,270 7,920 A1,650
= 3,135
2 3,135
EE] 6,270 7,920 A1,650
s+ &bt 6,270,000% 6,270
= 3,135
2 3,135
MY ZEX AKX 64,000 64,000 0
| 32,000
= 16,000
2 16,000
01240 64,000 63,000 1,000
| 32,000
= 16,000
2 16,000
EEEIEET 64,000 63,000 1,000
5171 LHRI & KT 2 ALY 64,000,002 64,000
p] 32,000
= 16,000
= 16,000
2 EI| HE AL 97,880 97,880 0
| 44,740
= 26,570
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SN A28

M YW SLALSIEHASMUIANMNRAZ(BEH/BHE)

CHol: UESEYRSAA B 2| &2l
SN HH G (EH) - MBAY - BYS Ak Soe s
2RI ALY i 26,570

307 gQiz2tol™ 97,880 97,880 0
| 44,740
= 26,570
2 26,570

01 A=z F=H| 97,880 97,880 0

OFLHTAIH (2D

89,480,000 89,480
| 44,740
< 22,370
o 22,370
OHZ &AL 6,400,000 6,400
= 3,200
i 3,200
Otz &AL 2,000, 000& 2,000
& 1,000
= 1,000

2SI o ZHIXE 96,008 97,760 A1,752
| 48,004
& 24,002
= 24,002

307 gQiz2tol™ 96,008 97,760 AT,752
| 48,004
= 24,002
= 24,002

01 Az 2= H| 96,008 97,760 A1,752
O ZHIAIAAS 96,008,000& 96,008
Il 48,004
& 24,002
i 24,002

THOte &k xt2tel 4,760 4,760 0
| 2,380
& 1,190
= 1,190

307 QI2+0| & 4,760 4,760 0
| 2,380

_32_




od
’J
oF
oJ

)

g22H9=

B2/

(

=
-/

MHIA T

YRy
oM ok OH
N4 50 B0
o] & M0
) 50 KiD
TH kU 2K

= A
)

X ZH

00J

C]

(e} Lo © [<e} D ()] o
s (0)) [€)) (@) o o
~ < © ~ ~ «
.D..G M [e0) [ee] [aV) Al
Ko q < <
=
=)
o @ o o o o o
S 2 & 3 S S =2
< S ! %, @ ) ™
LH3r = - -
uiled!
KIS
o OO o o o o [99) «© o o N~ < N N | < < [oN] (o] (o} <t [Xo2N Ne)} D o o o o Yo} Yo} D D o o
2 2E R 228 5Hh B S 2 3 8 = SSIR 8 PR R 8 838 = B |8
3
<
=
W m = Womw ~ M W ® ~ ~ H ~ H ~ ~ ~
o o | o o
o o o o o
o o o o o
< < < < <
D._ﬁ (@) < o (e} (o]
- © H S — D
X0 ~ W - S - o
Bl ~ 0 ,.ROIu ™ l
. T
al =
— <
Ik ro
= Kl
< —_
. Gl o
= <+ o0 E g
= H oI R w;m B
1o} o _ uw ol ) <+
oF =] ﬂm E_ = K _ 0 = H o
I W R mo W e T - o i I
- K W y _ m & o G Y A 5 w
B sk oD i 3 = I e SR B 0 w
=l D_ H ~ 0 D_ O~ m___ OF or 30 K 10 m___
&0 o o] = = ° ~ 10 0 o =z o o S P o
. ~ O 0 — O — O —
z |8 S K0 = 2 < S S
IF o

_33_



od
’J
OF
oJ

)

g22H9=

B2/

(

=
-/

MHIA T

YRy
oM ok OH
N4 50 B0
o] & M0
) 50 KiD
TH kU 2K

= A
)

X ZH

00J

C]

e

n0

KIo

Bl w

200

5,000

5,000

1,928

A200

A 200

2,128

H3r
uiled!
pak=

3,800

10,000

10,000

1,692

450

450

1,242

=
o

s

<J

600

Jl

1,400

A

rt

2,000
4,000

1,200

600
600

Il

H

2,800

1,400
1,400

H

H

15,000

5,000

p)

2,500

[

rH

7,500
15,000

10,000

5,000
5,000
5,000

Il

H

2,500
2,500

It

H

3,620
2,896

m

724

H

250

200

mr

50
250

rH

250

250

200

i

50

H

3,370

2,696

i

674

rH

o
<0
i
o)

oll

301

o
20
T

I

12 JIEt

&

1,200,000

2,800,000&

n
ak
n

ol

01

10,000,000&

&

5,000,000

30
0H
o)l

OXI OH Ol 2 A

0o
<+

)
oll

250,000

0H

o
KJ
A0

n0
AJ

ol
B

20

ord

_34_



od
’J
OF
oJ

)

g22H9=

B2/

(

=
-/

MHIA T

YRy
oM ok OH
N4 50 B0
o] & M0
) 50 KiD
TH kU 2K

= A
)

X ZH

00J

C]

[ee] o o o

Al (@) o (e}

— « @ «
=0 N © © ©
Klo
E
=)

N o o o

oY

N
LH3r
il
K=

S R X8 8 8|8 8 8|18 8 3883

SRR C R =T e Bt B Ul o R

® o © < < |ow & S| I < <
3
<
=

m ~ M ~ [H ~ K
oF) o
(@) o
o o
S e
olr o S
%0 & 8
2] ™ @
ol
=
Ik
=
~ >d
= 0 81
ol no =
< |- = = 3
oF D _ D K
AP IR 30 - W R
ol oW = s I
- L4 el mu_ ok K
=l A = A0 D_ 1l] =
RO Jo1 X0 ~ o a1 R
. _ O K4 ~ _ O
T |o = S o
I+ =

_35_



